ITI Computer Operator and Programming Assistant (Python)
Module 2 Windows Operating System

(1). What is the standard file extension of scan image? | ﬁﬁ?ﬁﬂwm
TRICTH 1 3?

(A) .exe

(B) .doc

(C) .bak

(D) .ipg

Correct Answer : D

(2). Which port socket in the computer uses 25 pins? | Wﬁaﬁqmﬁiﬂﬁﬁ' 25 fi=
BT ST HIdT 32

(A) Parallel Port | O¥eTel I
(B) USB Port | USB T

(C) Network Port | add® TId
(D) Serial Port | TG UIE

Correct Answer : A

(3). Name the ICON in which deleted files and folder are found. | ﬁm’ﬁ%ﬁfaﬁﬁm
3T HITST UTT 9T & S ICON T AT §a15¢ |

(A) My Computer | BRT e
(B) Recycle Bin | STO®d fo
(C) Microsoft Edge | ATSSPITIGE TSl
(D) Google Chrome | TRTSl 1A

Correct Answer : B



(4). Name the shortcut key used for refresh windows desktop. | ﬁ@ﬁéﬁo—{ﬁaﬁﬁﬁm
P31 & oI IUURT &) oA aref} AMTdpe B BT A9 Ia8e|

(A) F1
(B) F3
(C) F5
(D) F7

Correct Answer : C

(5). Which one is an example for OS? | mﬁﬁiﬁﬁwac—ﬁh@ﬁ%mwmmw
IS BT STANT Hd 872

(A) Antivirus | Listl.addEnd(5)
(B) Windows | Listl.addLast(5)
(C) MS Office | Listl.append(5)
(D) Macromedia | Listl.add(5)

Correct Answer : B

(6). Where does the pinned application stayed in Windows OS? | Frafafaa &1 33cYc
Wﬁ‘ﬂ? ‘Ist=['"Python’, "Java’, 'C++'] 1st.insert(len(L1),’SQL’) print(Ist)

(A) Desktop | ['Python’, "Java’, ‘C++’,'SQL’]

(B) Notification Area | ['SQL’, 'Python’, ‘Java’, 'C++]
(C) Start Button | ['Python’, 'SQL’, 'Java’, 'C++']

(D) Task Bar | ['Python’, 'Java’, 'SQL’, 'C++]

Correct Answer : D

(7). Which shortcut key is used to copy and paste a file folder? | The list.pop() function
will

(A) Ctrl+ X and Ctrl + Vv | forelt Gt & ugan a ged
(B) Ctrl+Aand ctrl +V | foreft = & sifaw ad e



(C) Ctrl+Z and Ctrl + Vv | f<f} &1 gerar 781 wmem
(D) Ctrl+CandCtrl+V | ﬁﬁwmm

Correct Answer : D

(8). Name the tool in control panel which is used to adjust your computer setting with voice
command? | Suppose d = {“john”:40, “peter”:45}, to delete the entry for “john” Eﬂm

FHIS T UINT HId 32

(A) Ease of access | d.delete(“john”:40)

(B) System and security | d.delete(“john”)

(C) Appearance and personalization | del d[“john”]
(D) Hardware and sound | del d(“john”:40)

Correct Answer : A

(9). How can we switch between open windows? | H 3N faeie & g A R a2
qHd 2

(A) Ctrl +Alt

(B) Ctrl+Tab

(C) AIlt + Shift

(D) Alt+Tab

Correct Answer : D

am(m). What is the extension of notepad file? | FIHFITRT Uray s Rite HT Seye &N
? 1)d = {"john":40, "peter”:45} 2)"john” in d

(A) fil | I

(8) .dil | AT
(C) .doc | BIg T&l
(D) .txt | TEACHT

Correct Answer : D



(11). Which control panel applet gives the information of computer? |
nums=list({1:'one’,2:'two’}) print(nums)

(A) System and security | Syntax Error

(B) Hardware and sound | [1, 2]

(C) Programs | [‘one’, ‘two’]

(D) Appearance and personalization | Runtime error

Correct Answer : A

(12). Name the shortcut key used to open start menu. | Suppose d = {“john”:40, “peter”:45},

9 gIT 8 oI9 gH IfYaafa &1 SUURT Heb Big HIF Y: U HR BT UIT Hd o

d[“susan”]?

(A) Windows Logo | ?Iﬁ? “susan” ﬁzﬁaﬁs‘nﬁﬂﬁﬁé, WWWW SIUdiq 3oTdl
?

(B) ctrl | 39 31 A fAmfe fur sirar 8 ok 15 siuare A8 IS/ ST 8, o Ug
HIS T8l dierar e

(C) shift | TP “susan” Ve T TH Hoil 81 8, UTAY TP iR I Iua Hear s
(D) Alt | TP “susan” A H TH Poil AG1 8, UTAY TH Hoit JdI UAIE IoTdT 8

Correct Answer : A

(13). Which type of copy is produced by printer? | ﬁamhwﬁﬁﬂ’r%m &t
STel 82

(A) Hard Copy | TS @I
(B) Soft Copy | ATUC PHIUL
(C) Scan Copy | ¥bT BIUL
(D) Xerox Copy | SIS BIGY

Correct Answer : A



(14). Which is the order of files and directories in Windows Explore? | If ['one’, 'four’, ‘three’,
‘two’] is a list object, the sort() function will return

(A) Serially | ['four’, ‘three’, 'two’, ‘one’]

(B) Sequentially | ['one’, ‘two’, ‘three’, 'four’]

(C) Hierarchically | ['four’, ‘one’, ‘three’, 'two’]
(D) Alphabetically | {"four”,”one”,"three”,"two"}

Correct Answer : C

(15). Which type of device is a scanner? | ﬁﬂvmwaﬁﬁm@m%?
(A) Processing Device | uﬁﬁmﬁ‘m‘s’m

(B) Internal Device | mm

(C) Output Device | 3T3cYcC %313'\‘[

(D) Input Device | E"TEE%ETW

Correct Answer : D



